Exploded view 18

33



No.

1
12

18
19

26
30

35
36

39
42

44
46

48
49

52
54

57
58

60
61

73
74

83

Parts List

Spare Part name
SDS rubber

Lock for function knob
O-ring 11x1,5
Function knob
Bearing HK2616
Big gear

Torque ring
Bearing 606-2z
Impact shaft
Chisel bar

O-ring 8,5x3
Strike hammer
O-ring 12,5x2,8
cylinder

cylinder pin

slide gear

clutch
transmission shaft
wobble bearing
Bearing k8x11x8
smsll gear
Bearing 607-2z
Slide board for hammer
slide board for drill
oil bearing
aluminum base
inner knob
bearing 609-2z
armature

bearing 626-2z
bearing sleeve
Stator

Carbon brush
Brush holder
Vibration -proof sleeve
Switch

34



